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. Question One (70 points) Choose the correct answer in each of the following pans.
?0 1. The solution of the inequality |1 —2x| < 3 is -3 € f-ax G2
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3. The domain of the function E %

[~eo, ~1|U[1,2)U(2,5)
(b) (—vo,~1]U[1,00)
(€} (~=,=2]U[2,00)
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(3) 3 = (e 2) A2)
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(© 3 = w42
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+ The line Ly has x-intercept 2 and y-intercept 6, the line L, passes through the point &
(2,3) and perpendicular o L, then the equation of Lyis
(@) 3y—x=13 — 1 (-1:")
(b) 3y-x=9 {-ilj {ﬂ‘ E}
y—-x=7 !
(d) 3y—x=11 hlfjg‘- M= 918
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6. The solution of the equation: 55 3 3}( 2) o-2
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. 'The center and the radius of the circle whose equation is

Prdx 14y -29=0

(@) (~2,-1),r=2 «2s Y U ::1+552J da= o
[h} (zl_l]lrzz xt*qx*\i A X _ *)
(€) (2,1),r=2 a 3 *13:‘ =
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9. The/range of the function: f(x) = 5cos(2x—3)+2is -1 & <o S
5 <£
1'317] 5 M "Ifﬂu“g ﬁ.‘ 4 X
) [-1,1] —— -
(c) [0,3] -3 < sl %}
(d) R

10. Suppose that N; = 80.2', 1 =0,1,2,... and one unit of time is & hours. Determine

the time it takes the population to double in size 3 L
-~ H0, 2
(a) 1 hour. }J+ —
(b) /4 hours. ' Zt
S
ﬁ 8 hours,
(d) 0.5 hour.

(e) 2 hours.



1. The inverse of the function f{x) =™~ L is

: () f(x) = o2t
(b) /7 (x) = M5
) f U x)=lnyx=T,2>1
(@7\t) =tnVFF x> -1

,r-

-

(&) {ﬂl — ”

by {01}
{02
4) {0,-2}

{e) {0.3}
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17, Pﬂ =n+1
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(c) —o=
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18. 1f the function

flx)=

16. The set of fixed paints of the recursive sequence ) = ;iﬁ; s

k42 Hrgl,
Piby if2<r<4,
ar+4 ifx>4

is continuous for all x, then the values of @ and b are

@a=1b=4
a=d4 b=1
©)a==1.b=-3
dy a=—3,b=—1
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(d) Does not exist- [ S

: i i the x axis twice, then ¢
20. Iftbtwh“f‘h‘mmmn"ﬂﬂ:'t: Sreienest pfx]:*.!?'..{:-*f.
must be b,_q“?u
(a) c>9 e 'l-l'f“‘-?a
c>=9
_uye 29
/g‘*‘-" =Y
{d) e< -9 36 bif-
"q Y
21, 1 sin? 0 — &in @ =2, where 8 € (0,21, then 66 = N <
-_____f
{a) 6x . .
) ¥
(c)
Qx

23, The value of I'ﬁ =

{a) i
b) -1

{c)
None of the above.

23. The floor function f{x) = | x |

{@) 15 continuous everywhere
is continuous everywhere from the right
c) is continudus everywhere from the left
() Mone of the shave




Question T (S points) Let f(x) = fﬁ’;ﬁ

™ Find a continuous extension Fix] for £(x) (if possible)

. | k- UM +3 "=
: F{il If{.”-‘ d,‘ﬂ.,h'.q bf,.!':""- Fex) = é rtl .
Oﬂ Foas ffr} R 0N ¥, 4 3423 g X =

Ko | > % |
||PI f'-" '| m
P} "_F__Fw—_r
lied, 2 43 71*] =2 suish xr'nu\!hﬁlf ﬁl!l:dl-l"lﬂ
"--i‘ .
Question Three (10 points) Use the graph of f(x) defined on the closed interval [~2,4]
to sketch the following functions:

(@) flx+1)-2




